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Problem quickname: 6894

1)
Calculate the result.

a) 51030 = 630
d) 7200 <+ 600

b) 240800 <+ 5600
e) 41040 =+ 760

c¢) 836000 + 8800
f) 4080 <+ 510 g) 68080 + 740

h) 16500 + 1500
2)

Calculate the result.

i) 507600 <+ 9400

j) 97900 = 8900

a) 5700 = 100 b) 5500 = 100 ¢) 3000 = 100 d) 7500 <+ 100
e) 870 + 10 £) 400 + 10 g) 6200 = 100 h) 140 =+ 10

i) 670 = 10 i) 300 = 10

3)

Calculate the result.

a) 300300 <+ 3900
d) 297600 < 9600
g) 145000 = 5000
j) 486000 = 9000

4)

Calculate the result.

a) 950000 = 10000
e) 2000 = 1000
h) 550000 = 10000
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b) 218700 =+ 2700
e) 298200 = 7100
h) 37500 =+ 2500

c) 4623000 <+ 69000
f) 346800 =+ 6800
i) 9280 =+ 580

b) 810 + 10 ¢) 57000 <+ 1000 d) 6600 < 100
f) 680000 = 10000 g) 590000 + 10000
i) 7600 = 100 j) 1000 =+ 100
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